

C.E.O.(Direct): 0891-2788612  
Fax : 0891-2788616  
E-mail : vizagdccb@gmail.com



## The Dist. Co-operative Central Bank Ltd.,

Y.S.R. Sahakara Bhawan, D. No. 58-14-57/1, Marripalem VUDA Layout,  
NH-16 Road, N.A.D. (Post), Visakhapatnam - 530 009.

### వి జిల్లా కేంద్ర సహకార బ్యాంకు లిమిటెడ్

వై.యస్.ఆర్. సహకారభవన్, డోర్ నెం.: 58-14-57/1, మర్రిపాలెం ఉడా లేఅవుట్,  
యన్.హెచ్. - 16 రోడ్, యన్.ఎ.డి. (పోస్ట్), విశాఖపట్నం - 530 009.

Ref:DEV/Tender Notification/2025-26

Dated:18.02.2026

### Notification for inviting Sealed Quotations

**District Cooperative Central Bank Visakhapatnam Ltd., Visakhapatnam**  
invites sealed tenders from eligible and experienced contractors for the following  
work:

#### **Name of Work:**

Construction of South side Compound Wall at Head Office (HO) premises, including  
RCC/Brick masonry works, foundation, plastering, and other allied civil works.

#### **Estimated Cost:**

Sealed tenders are invited from eligible and registered Civil Contractors for the  
following work:

- **Name of Work:** Construction of South Side Compound Wall at Head Office  
i.e The DCCB Ltd, Visakhapatnam, N.T.R.Sahakara Bhavan, Door No :58-14-  
57/1, Marripalem Vuda Layout, N.H- 5 Road, N.A.D.(Post), Visakhapatnam-  
530009.
- **Estimated Cost:** ₹ 4,70,000/-
- **Completion Period:** 30 Days
- **Mode of Submission:** Sealed Cover (Technical & Financial Bids)
- **Class of Contractor Eligible: Class III & Above**
- **Last Date for Submission:** 27.02.2026 up to 3:00 PM
- **As per the estimation, all items are in order except S. No. 1 and 2..  
The Estimation Copy available on the Bank's website.**

The Bank reserves the right to accept or reject any or all tenders without assigning  
any reason thereof.

#### **Eligibility Criteria:**

- Registered and licensed civil contractors
- Experience in executing similar works-Minimum 5 Years
- Submission of relevant credentials and supporting documents

The Bank reserves the right to accept or reject any or all tenders without assigning  
any reason thereof.

::2::

Sealed Quotations Should be handed over directly to the address mentioned below:

To  
The Chief Executive Officer,  
The DCCB Ltd, Visakhapatnam  
N.T.R.Sahakara Bhavan,  
Door No :58-14-57/1,  
Marripalem Vuda Layout  
N.H- 5 Road, N.A.D.(Post),  
Visakhapatnam-530009

Sd/-D.V.S.Varma  
**Chief Executive Officer**  
DCCB, Visakhapatnam

**Approved Valuers for :**

\* L.I.C. HFL \* State Bank of India \* IDBI Bank  
 \* Bank of India \* Union Bank of India \* Indian Bank  
 \* GIC HFL \* Karnataka Bank Ltd \* Vistaar Fin Services Pvt. Ltd  
 \* Muthoot HFCL \* Fullarton \* Capital First \* DCCB Ltd, Mahesh Bank  
 Approved for Income Tax Dept. S.No. 77, F.No. CCIT/Tech/VSP/34AB/3/2007-08  
 GSTIN : 37AFZPB8082R1Z9

**DETAILED CUM ABSTRACT ESTIMATE**

Name of Work : EXISTING BUILDING DISTRICT CO-OPERATIVE CENTRAL BANK PREMISES SOUTH SIDE COMPOUND WALL DISMANTLING & RECONSTRUCTION with in S.No-106 & 113, PLOT No-3, MARRIPALEM ,DIV.NO-42,G.V.M.C, Visakhapatnam District.

Estimate Amount : Rs.5.60 Lakhs

**DCCB BANK PREMISES**

S.No	Description of Work	No's	Measurements			Quantity Sqm/Cu	Rate/per Sqm/Cum	Amount in Rs.
			L	B	D			
<b>Compound wall :</b>								
1	Dismantling with compound wall materials Laid and Lift cost and conveyance of all labour charges						L.S	50,000
2	Teak wood trees Cutting and roods removing with materials Laid and Lift cost and conveyance of all labour charges						L.S	40,000
3	Earth Work Excavation and Depositing on bank with an initial lead and lift of loamy and clayey Soils like red earth and ordinary gravelly Soils as per SS-20B South Side	1X 1	43.46	0.90	1.22	47.72	125	5,965
4	C.C(1:5:10) using 40 mm HBG metal including cost and conveyance of all materials and all labour charges. South Side	1X 1	43.46	0.90	0.15	5.87	1400	8,214
5	R.R Masonary in CM(1:6) using rough stone including conveyance of all materials and all labour charges. <u>First Footing :</u> South Side	1X 1	43.46	0.90	0.90	35.20		
	<u>Second Footing :</u> South Side	1X 1	43.46	0.60	0.60	15.65		
						<u>50.85</u>	1500	76,272
6	R.C.C(1:2:4) using 20mm HBG chips including cost and Conveyance of all materials and all labour charges but excluding cost of steel and its Fabrication Charges etc . (a) Footings Pedestal	1X15	1.52	1.22	0.30	8.34		
			0.76	0.76	0.30	2.60		
						<u>10.94</u>	7,500	82,080



Contd 2

S.No	Description of Work	No's	Measurements			Quantity Sqm/Cu	Rate/per Sqm/Cum	Amount in Rs.	
			L	B	D				
	(b) Columns	1X 15	0.23	0.23	3.58	2.84	7,500	21,305	
	<u>(c) Plinth Beam:</u>								
	South Walls	1X 1	43.46	0.23	0.23	2.30	7,500	17,243	
7	Brick Work inCM(1:8) using 2nd class bricks including cost and conveyance of all materials and all labour charges.								
	South Walls in G.L	1X 1	43.46	0.23	1.6	15.99			
	South Walls in Above C	1X 1	43.46	0.23	1.98	19.79			
						<u>35.78</u>	3,500	1,25,247	
8	Plastering with CM(1:8) using 12 mm thick including cost and conveyance of all materials and all labour charges.								
	Out Side :								
	Around the Building	1x2	49.69		3.58	355.78	125	44,473	
9	Provision for Cost of Steel					1.00	84,000	84,000	
10	Unforeseen item of work						L.S	5,201	
Grand Total								Rs.	5,60,000

( Rupees FIVE Lacks SIXTY Thousand Only )

Place : Visakhapatnam

Date : 01- 11- 2025



  
 Signature Of Engineer  
**B.V.V. PRASAD**  
 B.E., M.I.E., Civil, F.I.V.  
 App. for SBI, UBI, LICHL, IDBI, BOI  
 S.No. 77, F.No. CCIT/TECH/VSP/  
 34AB/3/2007-08, Govt. App. Valuer